EARAROBREBRT —5 XN—ZXBISH—F

201118128 (&) 15EHEE1H

PN C2—23% C2 HSH3IELE BN
[®E%] 1% :300,000H  2&:90,000H  33%&:48,000M ./ 43%&:24,000M” . 53&:18,000 3
B RS RS R 1 B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
\_ = : - - LIS (58
1 6 | EVFU—F 5 4 54_01 1.(2_5).7 1-1-1-1 | 39.8 3 (4_179) L &8
R:EVFOVY B7YYTH—F J=2AH=F
® < SAPEET : -5-2- - FHEAIEE (%)
) 3| FURLR =Y 44 B 1.(2263.1 5-5-2-2 | 39.9 8 (4+532) il
Rirrhaivd B:IAIXAOF1— HE &=
= Dy — s 3 | GlllER 1:26.2 7-6-5-3 | 39.7| — 1 515 | FWRF (EH)
3111 |TATLXI v 56.0 %) (5) | TTERIER
R:IAIXIv— B:FITRAS YT [S1ate]
SIS S _ s 3 | REES 1:26.5 6-7-6-5 | 40.3| — 2 | 469 |dtRRtE (£ES)
418|9|EYVISAX 54.0 (1172 (10 | BEAH
R:D—URI—R B:RNAY—0T9Y R4 V0T 4 —)b RIS
S =\ B3 | HKIBA 1:26.6 2-2-3-4 | 40.6| — 4 | 497 |REM (£E)
5/8|10/ 72 vIATY—0O 56.0 ) +15) TR KT VTR )
RixAAZT7—R B:UF4—IUFV IH=T7—L
> LI~ EE : -8-9- - KEHK (8
6 )| FARTA— it 4 TR 1.(247).3 8-8-9-8 | 40.6 9 (4_058) =
RIEVFOYVY §:7909X4(E it %8R
=\ t 4 | SWEH 1:27.3 4-4-7-7 | M| — 7 49 | MEF (EH)
7178 7AURTY—0O ! %53.0 NP “1 ) ForceEquus
R:TSVIIAR B:OAYRo)b—F IRATHUS
~ 2 L 3 | BBEC 1:27.4 3-3-4-6 |4.2| - 6 442 | BIEX (E8)
8|77 | 7A7LYX £ 54.0 (/2) “2) %)Tﬁ@?
R:ND B:TFANTTIaA BADREEEEHEER S
9 4| HYIRU—)$—)b 4 3 JSL{%?E 1( 72{:;1 9-9-8-9 |40.7| - 5 (4_33 “qé;ggsz (£2)
R:PrALO B:AVINU—t—TF w"E R
— S oD LO# = - - - - — | OEXE (k8
«|5|5 | P=NILT VY #3150 (EGE) =) Eﬂ%ﬁ—ﬂﬂﬂ
RibwHO—)LR B:EYI—Ta £1H &Hx
@ 11— —BERIEI
==h= 6,10,7,8,3,9,1,2,4
20—F— 6,10,7,8,3,1,9,2,4
IT=5r= 6,3,10,7,1,9,8,4,2
41—+ — 6,3,1,10,9,7,8,2,4
0 ILRE
BB 6 520 JA R 3-6 2,950H & 3-6 27,890 3ER 1-3-6 17,9803
B B 6 280M4 1-6 390M4 o 18 3-6 28,430 3Es 6-3-1 97,360H
3 960M 1-3 2,180 oS- 1 6-3 35,100
1 180M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




